Operaciones con Nimeros Senarios (F)

23104
X 21

5242
+ 4454,

44034
— 13114

34034
+ 33024

132244]124

Calcule cada respuesta.

2332

+ 31414

5324

— 51144

1351,

+ 3324

11321,

— 40404

34254

+ 44404

1304
— 10304

5302| 26

1454306|436

5124
X 114

135004
— 4005¢

1544404424

102243;4|21¢

3455¢

X 146

24442[224

52534
X 536
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Operaciones con Nimeros Senarios (F) Respuestas

23104
X 21

52510

5242
+ 4454,

141404

44034
— 13114

3052

34034
+ 33024

111054

132244]124
11024

Calcule cada respuesta.

2332

+ 3141,

5513

5324

— 51144

2104

1351,

+ 3324

51154

11321,

— 40404

3241,

34254

+ 44404

12305

1304
— 10304

2344

5302| 26
2431,

1454306|436
22344

5124
X 114

100404

135004
— 4005¢

54514

1544404424
2420,

102243;4|21¢
2543

3455¢
X 146

1021424

24442[224
1111,

52534
X 536

501013
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